Maths
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Mental & Oral Starter

Divide 945 by 8
Find the product of 420 and 5

What is the value of the digit 5 in 3,452?



Mental & Oral Starter

1. Divide 945 by 8 18 r |
2. Find the product of 420 and 5 2,100

3. What is the value of the digit 5in 3,452? 90 or O tens



WALT: Find the perimeter of
rectilinear shapes

S2S: 1 can
- Understand what a rectilinear shape is
- Apply my knowledge of finding the perimeter



PERIMETER OF
RECTILINEAR
SHAPES







1) 17 = +9

2) 6+10+4=10+

3) Find the difference between 5 and 13



1) 17= 8 +9

2) 6+10+4=10+ 10

3) Find the difference between 5 and 13

3






Find the perimeter of the rectilinear shape.

}in» A rectilinear
1ch 2 tm shape is a
—Ai::.’A shapg where all
the sides meet
3 dm at right angles.
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[2cm+3cmj+[3cm+2cm]+5cm +5cm =20cm




Earm)

Have a go at questions
1 and 2 on the @

worksheet
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cm+6cm+4cm+5cm+3cm+1cm

4 cm

= 26Cm



. 8cm |

6cm

13cm-8cm =5cm

13+5+8=13+13 =26
3+6+9=9+9 =18

26cm + 18 cm =44 cm

<




Earm)

Have a go at questions
3 and 4 on the @

worksheet




A photo frame is 15 cm long and 12 cm high.
The frame around the photo window is 3 cm wide.

15 cm

I3cm

3em 6cm‘3CIm 12 cm

I3cm

13cm+3Z2Zmm-32icen 12 cm - ®am= Gdam= 15 cm

27 cm x 2 = 15cm x 2 =
1I5cm-3cm-3cm= 15cm-6cm =




o Tuey 2

Have a go at the rest of
the worksheet




